A. Linear Equations
L. Find the slope and the x and y-intercepts of each line. Graph each function.|
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IL Find the slope of each line.
4. Find the slope of the line that contains the points (5,3) and (-7,-1).
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5. Find the slope of a line that is parallel to a line whose equation 1s y = §x +1.
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6. Find the slope of a line that 1s perpendicular to a line that contains the points (-3,1) and
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IIL. Write the equation of the line (in slope-intercept form) described in each problem.
7. Write the equation of the ljne that passes ough (6,1) and (8,-4). —

-y_| -5 Yy =m X+ _5"
=§!§—(_o=-5- I= ,.(O"'bj b=10 &.—: —o:,-'x+/(a_

8. Write the equation of the line that passes through (-2.0) and 1s perpendicular to the line whose equati
y=-3x+7.
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B. Radicals

L. Simplify each expression.
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Jse vour calculators to evaluate the following radicals. Round to the nearest hundredth.
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C. Quadratic Equations

I. Factor each polynomial completely.
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IL. Find the roots of the following functions (Remember, roots are x-intercepts).
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32.y=x*+10x+21=0 33.y=3x>—2x-8
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[IL. Simplify each expression.
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Simplify each expression.
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Graph the following equations on a separate sheet of paper

57. y=x*-9
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Solve for the missing pieces of each triangle using Pythagorean Theorem, 30°-60°-90°, 45°-45°-90°, or
trigonometry.
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69. Iftan @ = % what would cos 6 be equal to?
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70. Ifsin B = g what would tan 6 be equal to?




